
BED

SIZE

RTG PACKAGE NO.
 Twin/Full Bed (BUBBLE GUM)

RTG PACKAGE NO.
 Twin/Full Bed (LAVENDER)

RTG PACKAGE NO.
 Twin/Full Bed (WHITE)

ITEM DESCRIPTION

LAVENDER WHITE

RTG SKU# STYLE# RTG SKU# STYLE# RTG SKU# STYLE#

TWIN

BED

 TWIN HEADBOARD & 2 SETS OF LEGS

FULL

BED

BUBBLE GUM

This product is manufactured by (IFSB) for

Page 1/4

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM

WITH SERVICE OR PARTS REPLACEMENT REQUEST.

GWYNETH

2310T-P1

2310-P2

2310T-P3

2310F-P1

2310-P2

2310F-P3

2310T-L1

2310-L2

2310T-L3

2310F-L1

2310-L2

2310F-L3

2310T-W1

2310-W2

2310T-W3

2310F-W1

2310-W2

2310F-W3

 TWIN SIDE RAILS

 FULL HEADBOARD & 2 SETS OF LEGS

 TWIN/ FULL BED

 TWIN FOOTBOARD, 2 SETS OF LEGS, 2 SETS
OF SUPPORT LEGS & SLAT ROLL

FULL FOOTBOARD, 2 SETS OF LEGS, 2 SETS
OF SUPPORT LEGS & SLAT ROLL

FULL SIDE RAILS

34623101

35023100

34723103

34623113

35023112

34723115

34623125

35023124

34723127

34823105

35023100

34923107

34823117

35023112

34923119

34823129

35023124

34923121

Version 6 - 2024/08/16

“ FABRIC CLEANING CODE ­ W ­ SPOT CLEAN YOUR BED WITH A WATER BASED CLEANER AND CLEAN CLOTH ”



This product is manufactured by (IFSB) for

Page 2/4

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM

WITH SERVICE OR PARTS REPLACEMENT REQUEST.

HEADBOARD PARTS LIST
PART NO. ITEM DESCRIPTION IMAGE QTY

A Headboard 1 PC

B
Legs 2 PCS

HEADBOARD HARDWARE LIST

ITEM DESCRIPTION IMAGE

1

FOOTBOARD & SLATS

ITEM DESCRIPTION IMAGE QTY

1

Screw driver not provided

QTY

2

M4 Allen key

 M4 x 100mm

M4 Allen key

 M4 x 100mm

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts which may

have come loose inside the carton during shipment. Identify and count all parts and compare with the parts list below.

Read all instructions before assembling bed and keep these instructions for future reference.

C 2 PCSPlastic Legs
(Pre Assemble)

2

JCBB Bolt M8 x P1.25 x 25 
Spring Washer M8 x 13

Flat Washer M8 x 22
(Pre Assemble)

1 PC

4 PCS

1 PC
JCBB Bolt M8 x P1.25 x 25 

Spring Washer M8 x 13
Flat Washer M8 x 22

(Pre Assemble)

4 PCS

3 18 PCSM4 x 32mm CSK screw

HARDWARE PACK LOCATION

ITEM DESCRIPTION RTG SKU# STYLE# RTG SKU# STYLE# RTG SKU# STYLE#

TWIN HEADBOARD &  2 LEGS 2310T-P1

FULL HEADBOARD &  2 LEGS

2310T-L1 2310T-W1

2310F-P1 2310F-L1 2310F-W1

HARDWARE PACK LOCATION

RTG SKU# STYLE# RTG SKU# STYLE# RTG SKU# STYLE#

2310T-P3

ITEM DESCRIPTION

2310T-L3 2310T-W3

2310F-P3 2310F-L3 2310F-W3

HARDWARE &

LEG

HEADBOARD

CARTON

SIDE RAIL

CARTON

 TWIN FOOTBOARD, 2 SETS OF LEGS, 2 SETS
OF SUPPORT LEGS & SLAT ROLL

FULL FOOTBOARD, 2 SETS OF LEGS, 2 SETS
OF SUPPORT LEGS & SLAT ROLL

FOOTBOARD & SLATS PARTS LIST
PART NO. ITEM DESCRIPTION IMAGE QTY

Footboard 1 PCE

SlatsF 1 PC

SIDERAILS PART LIST
PART NO. ITEM DESCRIPTION IMAGE QTY

D Siderails 2 PCS

I

Plastic Legs
(Pre Assemble) 4 PCS

Support Leg 2 PCS

Legs 2 PCSG

H

HARDWARE, LEG &

SUPPORT LEGS

34623101 34623113 34623125

34823105 34823117 34823129

34723103 34723115 34723127

34923107 34923119 34923121

HARDW
ARE

STORAGE COMPARTMENT

FOR LEGS

Version 6 - 2024/08/16

FOOTBOARD, SLATS

CARTON

“ FABRIC CLEANING CODE ­ W ­ SPOT CLEAN YOUR BED WITH A WATER BASED CLEANER AND CLEAN CLOTH ”



Step 4

This product is manufactured by (IFSB) for

Page 3/4

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM

WITH SERVICE OR PARTS REPLACEMENT REQUEST.

Step 3 Step 4

Assembly Instructions:

Step 1 Step 2

Remove the cap

LEG 1 OPTION

(PRE-INSTALLED)

LEG 2 OPTION

(REMOVE PRE-INSTALL LEG TO SWITCH)

B

A

A

C

2

Version 6 - 2024/08/16

CARRY OUT THE PRODUCT WITH THE WHITE NON-WOVEN

FABRIC OVER THEM TO PREVENT ANY DIRT.

CARRY OUT THE SLAT AND PRODUCT WITH THE WHITE

NON-WOVEN FABRIC OVER THEM TO PREVENT ANY DIRT.

HEADBOARD

CARTON

FOOTBOARD, SLATS

CARTON

CARRY OUT THE FOOTBOARD , BY HAVING ONE PERSON ON

EACH SIDE AND HAVING THEIR HAND OVER THE

DRAWER FRONTS TO PREVENT IT FROM SLIDING OUT.

FOOTBOARD

DRAWER

WHITE

NON-WOVEN

WHITE

NON-WOVEN

SLATS

“ FABRIC CLEANING CODE ­ W ­ SPOT CLEAN YOUR BED WITH A WATER BASED CLEANER AND CLEAN CLOTH ”



This product is manufactured by (IFSB) for

Page 4/4

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM

WITH SERVICE OR PARTS REPLACEMENT REQUEST.

100%

1

Step 7

Assembly Instructions:

Step 5 Step 6

LEG 1 OPTION

(PRE-INSTALLED)

LEG 2 OPTION

(REMOVE PRE-INSTALL LEG TO SWITCH)

Screw driver

not include

Version 6 - 2024/08/16

Remove the cap

E

E

D

D

F

3

G

Level Me

2

I

H

“ FABRIC CLEANING CODE ­ W ­ SPOT CLEAN YOUR BED WITH A WATER BASED CLEANER AND CLEAN CLOTH ”


	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


